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miER |MRA| F5 | KE | @EAH) &% miER (MR F5 | KE | @EAH) &%
LY Ittt 4 725| 273,240 b Ittt 2 609| 650,160
4 It 5 729| 184,680 MY It 2 641| 703,080
4 It 4 745| 289,440 THEF i3 2 683| 776,520
LY Ittt 5 744| 289,440 b Ittt 2 687| 756,000
4 It 6 795| 304,560 MY It 2 690 754,920
4 it 8 832| 314,280 RHEF i3 2 722| 830,520
b Ittt 2 722| 808,920
MY =8 2 730| 830,520
[ Yjikg N A It 2| 732] 831600
migd |HAE| &5 | KE | @GAH) &% b i 2 737] 830,520
e It 3 348| 171,720 b Ittt 2 745| 828,360
4 It 3 355| 291,600 XMLt It 2 749| 832,680
e Ittt 6 523| 362,880 b It 2 768| 832,680
e i3 6 528| 563,760 |$TIRA b Ittt 2 779| 830,520
e i3 12 510| 318,600 R =8 2 788| 832,680
e Ittt 13 460| 481,680 [3FIRAE g =8 2 793| 831,600
b Ittt 2 800| 950,400
XM It 2 809| 833,760
X BELTWSREIETERRIFTY . b an i3 2| 830| 1,004,400
X ERERESERTLTVEY. R =8 2 882] 1,047,600




